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la 2a i Quadratic formula is:
0 3 = ey =31 2
- . 'Solution of [ x| =3 is: } : i
R ch,rﬁb‘ :/»‘L;Jﬁur.:.-bwé Sebied If y>z 4 x>y )’F_Lz.’. zalyex )!xlgrf-a.,{_;:(i 3
N Law of Multiplicative ;x’bdf K x>zd,
Transitive property]  triehotomy property of | Additive property | For any three numbers x, yand z, if x>y and
| ofinequality inequality | of inequality |y>zthenx>z:
. | - - — B o 5 - T
o i 5 l 0 HESLL S P 4
| i The number of methods to find L.C.M are:
L -+ x4 c (x+2)(x% +2x +4) A e $FS x3-8] 5
D =P H2x+9) (x-2)(x> -2x+4) B |Factorization of x3 —g is: ;
| a , . Yo AS £ P@ Jnd Ak PO x2Sl 6 |
| - , ! If X -2 is a factor of P(x) then P(a) =:
T P sabarb)eb’ | C | airdab@ab)eb’ A b .
© ad+3aba-b)-b* - ! D a° ~3ab(a-b)—b° B
—— , : I i . i _ Jq_,...?j}bl nfa = ajrf fpf;f.@" 8
! 2 35 n 0 ; 1 ;
i ‘;//1 {0y =an isasurd of order: !
o : . 3 e O = - e -
'fo | | h g ,,/'\\ ! :4_6,»:.-,4_’0’.:43_5; '«:’:ﬂdbuf&x::; 9
| - Zero {  Negative Positiy§” / a A point in 4th quadrant has its ordinate: ]
[ i
.‘\ﬁ-\ | G 2 B i . e b Ko rhid| 10
l’, -i 2 W\ rea of semi circle is:
b o s L A el bl Edbe sudil el 1
A N _ _ _ e joining one vertex of a triangie to the mid |
T Side bisector Median Altitude Angle bisecto ﬁi{ of its Gppgsi[e sides is called: | |
L e =4 — !
; L3600 270° 18° | 9%0° ¥ bk 2| 12|
L ' | | A straight angle contains: i
: A BIA! B AlB! (ABY =7 2. L sF | 13
. L . in matrices (AB)' =? : ;
' e 50
: S 37 ' __Js;,f:*’ | SELE .,Ao‘):‘ :9%’ lo 5J <A 14
1 ! ) . Rectangular | ) C[5 0}, |
: | Null matrix nsitelx ! Row marrix Scalar matrix |Matrix | | is called: :
: (sl -1y | (=) (1) e St =1 15
' | ' Solution set of N '
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(Part-1 Jiladaa )
Write short answers to any SIX parts. _ﬂ._-;,;l,‘r/zz_,jy !gc-_gjf
Reduce to the lowest terms 22{{%‘; | _.4_':- ‘_}aux/"f( 32,(51,’? (i)
Express in the simplest form V147 - o "uc\;{}/g’:( Jia7 (ii)
If PO = 2 +2x% + x =1 then find P(-2). - PED e Py =234 2 +x -1 A iy
What is meant by factor theorem? fesle Y FA (iv)
Factorize: 3642 -1 » 36d? -1 :;,»’d;f' (v)
Factorize: X2 +9x +20 .‘\]’ b X% +9x 420 :g,Ed;z’ (vi)
Find H.C.F. by factorization:  4abc? “ 4abcﬂ 8a’bc , Gablc gL, ,‘,lvf"l,ud £k (vid)
Find L.C.M. by factorization: ~ 22b , 3ab 2ab, 3ab, dea Lol PobaiS Ak (vili)
Find the square root of: 49x% +112xy + 64y> 49x? +112xy + 64y? Sl N (ix)
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Write short answers to any SIX parts.

Define equation. Give an exampie.

Solve the equation: 3x +% =2-x Ix+ -3- =2-x :_g-_-’U"f.;-.hl,é (ib)
Solve the inequality: X-755-2x X=785-2x :g.:d"fai‘sl./;:” (iii)

Define quadratic equation and write in standard form. _&g _".»‘JJ_L_»‘J:IQ‘,):’ - /JJ..:- b Sooss  (iv)
Find solution set by factorization: (2Xx +1)(5x -4) =0 (2% +D(5x -4) =0 “{;‘?f"‘\-’{J’d,{g‘u (v)

-é:_/‘;&. ,—‘!’d:.d._fr:f:(ca e (vi)
e LngE IG5 (i)

Write the methods to solve quadratic equation.

Define diagonal matrix. Give one example.

IfA= B ﬁ] m then find AB. -SEpk AB B = B] s A= |'5 ﬂ S iy
A= 1::31' _.ﬂ , then evaluate det A. ..q..(:l"_/‘d det A A= [ 3 _,4J i (ix)
Write short answers to any SIX parts. -émw"&&z l{r_J}(
Define parallelogram. ..g:g._é!/l{!&ﬂﬁﬂ!&}l? (i)
Define radial segment. Sl aBS1y (i)
Define major segment. ?5‘:'_-)'/%2:'...’/:{;5’:’. (iii)
What is meant by medians of a triangle? Sei e gbal sl (iv)

Define common tangent or external tangent, ?.‘;_ ;i/t[;_ JWd ,_J,_gguri,fc_/r,_f: o2 (v}
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Write the formula for area of a semi-circle. _Q—U’rzﬁb’_ﬁfd:s}f;.ﬁ {vi)
Find the area of the right triangle with legs 12om and 35em.  —U2(735 st (7 12 Lot g i ¥l a5 (vif)
-t (-5 5 i)

Define non-collinear points. _;‘E_gﬁﬁm»(w {ix)

Describe the location of (7:=5) on the number plane.

‘Lfl?/'-} 08 Ld""/f -é{fu‘-‘wt-’ﬁéawrufc..&f @iyl .4...',;.
Part - I, Attempt any THREE questions. Each question carries 08 marks.
_3 1 . _
-éf’bﬂét{ x? "';‘:‘»’ X ‘*%J’ﬁ x=2+3 J1 ()

1 i
[fx=2+\/3_,then find the values of X~— and x2+;—2-

Factorize: a’~b*-a+b al-b’—a+b _éld,; ficd
Find the square root of X2+ y? 420+ 2xy + 2y2.+ 2xz g‘gf‘)h’zn (i)
Solve: %(2”3)5(?“4:() _i—(z_x +<g-4x) &S (D)

- 74 o5 b’uf.’/&fér:lvnm&w:ﬂédy s (L)

Find two consecutive positive odd numbers such that the sum of their square is 74.

KT E Pkl ()

. Y r ”
IX-2A=B géfr,lv_-,ggx;ﬁhﬁ f;JlJ,;Azlj ﬂ/](_ﬂl)

Construct a square whose one side is Sem.

2 131 7,
Solve the matrix equation for X, 3X-2A=B jf A= {_4 ]J and B 2[4- 2] '

x¥3y=1; 2+8y=0 .o Fdnlaiae 3 b 20 (L)

Use Cramer's rule to solve the linear equations:  x+3y=1; 2x+ 8y =0 '

-E UL e 2520 (RS 12320 AE k- (L

Find the radius of the cylinder with volume [2320cm> and height 20cm.

_.u_?J:E:JD'fT (7, 3) s BB, 2)  A(-1, D) bﬁ'ff-_::/h‘ (——)
Show that the points A(~1, 1), B(3, 2) and C(7, 3) are collinear.
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D ! C B A Questions / =y l ;F/
: ' . 2,
2.6 | {-6-2 6.2 | (0,4 een ¥ (x-20=4| 1 |
. | ] P  The solution set of (x <2 =4 s |
"_,15 I (Lt : . ! o - . ~
a s ! SIS | ._JF/W qﬁdb’ .‘LF%J&!JJ}'JU Wil 2 |
' Unitmatrix | Rowmatrix | Scalarmatrix | Column matrix | A matrix which has only one row is called: !
! po I | e " I
| Ul ; Ix1 : 3x2 %3 :q_dn)lﬂp(u:'lfnlu»&"‘uf.,ﬂﬁ'df/ 3
' Same | ! Number of rows and columns in square matrix is: i
i : :
| 360° 180° i 9(° 270° — t‘:u:i-h'ugs-';'ﬁé—f-" 4
; B | rThe sum of angles of a triangle is:
i 3 | The number of altitudes in a mangle is:
| . n z
2 1 Luiesp Lo ¢%b -q-i”x-fzwf" 6
! 2 | Area of a rectangle is:
| JJV : sl bii;(*' Lé;f'f‘ L)‘d:-l.‘a&ﬁ'd'!{ﬁ@-g 7
+ Overlapping | Equal i 3 Collinear Non-collinear Pomts tying on the same line are called:
| | ‘e20f Ja =a? Ifbl,w 8
¥ 2 1 0 !
! Ja=a 3 is a surd of order:
’ |
. 4dab B b 2(a” +b) ~4ab @a+b)’ -(a-b)? =: 9
: ' > -
P DX ) | = ixs a2 4y | (x+D(x-4) T (x=2(x+2) e $Ad x4 -16| 10
:Factoﬁzation of y4 _16.is:
§ 5 5 = PO 5Py =x -2k 5x+1 01|
. If P(x) = x 2x + 51; +1 then P(1} will be:
' HCF+1CM . HCF x LCM LCM HCF : w/‘f LKuH Ay 12
. § Product of two algebraizcxp
i 0 bx| -x X @J‘L”L}WJXJJF/ 13
i For each number x the absolule value of x is dencted b)
6.y 53 (s -3 5 -3 e Y 1X-1=41 14
; j i The solution set of [ x —1|=4 is: B
i 0 i 1 2 'G.V:I.:'JJF':J:VL;/:»E 15
|

| A quadratic equation has a degree: i
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( Part-1 Jil s )

Write short answers to any SIX parts.

Aoz g §f

Define rational and irrationai numbers. é-—”fu"""ukt/d'dl’t (B
Solve by using formula: (x+yy -1 . (x+y) -1 & Sl i)
simplify:  (v3-2)(5-V5) (V3-2){s=45) i
Define cubic polynomials. Give an example. e et _._é-:_éi/‘-“'_‘:/a_?.{f?"{’s.gwuf {(iv)
Factorize:  a® —12a—85 a"=12a-85 ZbdALIz (v)
_gﬁ:#jg;g_w?:"‘; =1/ Py =5x* + 143 + 32 =5x =3 1 (vi)
If P(x) = 5x% + 14x> + 3x2 —Sx ~ 3 is divided by x —1, find the remainder.
Define H.C.F. -Ea 5 win
Find L.C.M. by factorization:  X°yz , xy’z , xyz?* xiyz, xy’z, w2 g PSS i (viii)
Find the square root:  16x% + 24xy +9y? _ 16x% +24xy + 9y* :é{r}“@/l,jf (ix)
Write short answers to any SIX parts. _éc,uz/'&lz»g;-_df
Solve:  (x—3)*=4 A ' -4 EF
Soi\.'e by factorization:  2x = % + 2x = ‘i“*‘ 3 Lé@yd;g.f;% (ii)
Write the names of methods to solve a quadratic equation. ,.”dﬁ(t %C@y’d’;;@)ﬁfwwﬁ.»:: (i)
Define linear equation. ; _é_é/‘-"ur..:-lu-'ubj {(iv)
Solve: 2x% = 3:(. 2x% =3x :_évl’ (v)
Solve by factorization: 2x%+15x -8 =0 2% +15%x-8=0 :‘éuw ;f-.f.r'.'-;- (vi}
What is meant by transpose of a matrix? ??;Vga.)r;‘;’id:.._.)ﬁ' (vil)
IfA “B éJ = |r_§ EJ then find AB. ~GE P AB Jn B =[.§ L} <A *(3 gi Ji wiii)

Define rectangular matrix with example.

Write short answers to any SIX parts.

Define square. ; -9'.‘;-;'."/‘7(}{5";/
Define radius of circle. é_‘r/v J‘uéé_. iy

g‘;';‘:“”;‘fp( X u:&.i'i“b"r f)

Find the value of x in the given triangle:

Define median of a triangle. -5’5-&1/“‘&:;4&4&:,}-"5
Define incenter of the triangle. B L

( U )
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(i)

(it)

(iii)

(iv)
(v)
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Find area of rectangle 20cm long and 18cm wide. -<18cm Jljg.;si 20cm L;JJJ@;—:(A”J;&U’-W (vi)
Find the volume of cube whose edge is 8m. g ul?fr;b’féph’(ﬁ/__»{d_f {vii)
Find the distance between the points A(2, [}, B(-4, 3} -g‘&r{‘!h’kliu?ﬂﬁ A2, 1), B(—4, 3) LG (viii)
Define coilinear points. -g‘,’-.’hé!ﬁfélﬂ;iﬁ (ix)

A 08 L g feizlctivgfe 3 pipacan
Part - II, Attempt any THREE questions. Each question carries 08 marks.

a—b=3’,,pa+b=5ﬂ_¢,5‘;£i/,l”;;,gjab s 2t + b (L)

Find the value of 32 +b? and ab when a+b=5and a-b=3

Factorize:  64x” - xa® 64x” —xa® :,éu';f- ()

-g‘,-fpl"‘..»,EJa ?nx—afﬁ’rgw’xz+3X~—!8u=x3—:-:-6/’7(&f) _

If X -2 is the HCF of x2—x —6 and x’+3x—18, then find the value of a .

Solve: —c}—%;}'-+8>6+§-x— 4}(_3+8>6+-3—x* 1-5"‘,‘,;‘9? (<)
3 2 3 2
Solve using quadratic formula: (x-Dix+3)-12=0 ::_i:;ﬂ:.ud;g&u» (&)

B L KT 53 PSS ()

Draw an equilateral triangle each of whose side is 5.3cm. Draw its medians.

Solve by Crammer's rule: x+3y=1; 2x+8y=0 :é‘::gfc;--?.")iﬁ/f 1))
12 2 :
Find M~'M when M=L3 4} M =[3 4} Jgke MM (&)

R RV B AP 78 R )

| S HBIA C4,3) 41 B(6,2) < AR, 4) bESE =t (&)
Show that the points A(2 , 4), B(6, 2} and C(4 , 3) are collinear.

510-X120-32000

Find the volume of a sphere with radius 3.5¢cm

-3

-7

=9




